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MCQ Section
1-   If the retinoscopy reveals neutralization (retinoscopy finding) at
+0.50 -1.00 X 90 at 50cm, the final refraction will 
a) +0.50-1.00X90        b) PL-1.00X90    c) -1.50-1.00X90
d) +0.50-1.00X180 
2- Retinoscopy is an instrument used to determine 

a) the refractive error objectively            b) the curvature                                                                        of the cornea          
c) the refractive error subjectively          d) depth of the                                                                   anterior chamber 
3- the angular field of view of direct ophthalmoscope is :

a) less than the indirect ophthalmoscope 

b) more than the indirect ophthalmoscope

c) same of the indirect ophthalmoscope 

d) none of the above
4- the optic nerve head is located  

a) temporal to the center of the fovea 

b) nasal to the center of the fovea 

c) superior to the center of the fovea

d) inferior to the center of the fovea 
True or False 
1- There are two types of retinoscope spot and streak            retinoscope (   T  )                                 
2- in retinoscopy if the reflex of light is becoming                brighter, and the motion is become faster this indicate      that your are not far from neutralizing point ( F    )     
3- in retinoscopy the patient should be look to letter E or     other fixation target make sure that the                              accommodation is not relaxed (  F   )

4- pink color is the color of  the healthy or normal optic       nerve (   T  ).
5- retinoscopy and opthalmoscopy are methods of                subjective refraction (    F  )      
6- in ophthalmoscopy, the examiner must use his right eye to examine the left eye of the patient and his left eye to examine the patient right eye (   F    )

Fill the space 

1- A light is directed into the eye and the movement of the reflex is observed.  

    If the reflex moves in the same direction as the retinoscope, this is called  __with__    movement  
    and we add  ___plus__  lenses.  If the reflex moves in the opposite direction to the retinoscope, this called ___against__  
    movement and we add  ____minus_  lenses .

2-  A retinoscope  is made up of a light source,
    a condensing lens and a mirror. 

    Two factors affect the movement of the reflex and there are: 

1 ___working distance_____________ 
2 ____refractive error of patient____________ 

3- The vergence of the light can be changed in streak retinoscope. 
if the handle of the retinoscope is down  divergenc_____and if the handle of the retinoscope is up __convergenc___ 
4- Using the streak retinoscope with the handle down, with motion is observed without lenses at the working distance of 67cm. 
There are three possibilities: 
1. _myopia less than 1.50 D______________ 
2. _hyperopia_________ 
3. __emmetropia_____________

5- During retinoscopy, If you are working at a distance of 50cm, and you find that with the streak at 90 degrees +2.00 D sphere neutralized the reflex; with the streak at 180 degrees a -2.00D cylinder neutralizes the reflex. The patient's final refraction is __+1.50-2.00X180_____

